Online MAC 1140
Sample Questions for Test 1
NOTE: These are just sample questions, and do not include all the competencies tested on Test 1! To be prepared for Test 1, you must review all the competencies for this test and practice all the problems stated on the “Topics” link found in BB.
Answer without the use of the graphing calculator. The answers have an asterisk.
1. The distance formula between the points (x1, y1) and (x2, y2 )  is 
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a) True




*b) False

2.  The midpoint of the line segment that joins the points 
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*a) True

b) False

3.   A function is a special kind of relation that assigns to each number in the range exactly one number in the domain.
a. True

*b. False
4. The domain of f(x) is the set of all real numbers x for which the function is defined.

*a. True

b. False
5. Determine the domain of y = 
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a. x 
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b. x 
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*c. x  
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d. x = 1/3

6.  In the graph below, f(x) =6 for x=4 and x=-4.
[image: image9.jpg]



 
*a. True


b. False
7.  The graph below is:
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a. A function


b. piecewise 

c. continuous 


*d. All of the above
8. The slope of the line through the points 
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*a) True


b) False

9.   Write the slope-intercept form of the equation for the line passing through the points (-7, 6) and (1, -3).
*a.   y = -9x/8 – 15/8

c.   y = 13x/4 + ¼

b.   y = 9x/8 – 15/8

d.   y = -13x/4 + 1/4

10.   Find the x- and y-intercepts of the equation 12y – 3x = - 9.
a. (- 3/4, 0); (0, 3)              
*b. (3, 0); (0, - 3/4)        

c. (-3, 0); (0, - 3/4)

d. (- 3/4, 0); (0, -3)
11. Find the slope-intercept form of the equation of the line through the point 
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 parallel to the line
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a. 
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12. The product of the slopes of perpendicular lines is -1.  
*a. True




b. False
13. The lines 
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 are perpendicular lines  
a) True 

*b) False
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14. What can we say about the slopes of the following lines?

           a. l4 is negative        
c. l3 is undefined
           b. l1, l2 are positive        
*d. l3 is zero  
15.  Given f(x) = x2 –2x–1, the difference quotient is 2x – h –2   
a) True



*b) False
16. Find the equation of A.
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*a. y = 
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b. y = 
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17. The solution of the inequality 
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 by using the Test Point Method is  
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a) True

*b) False

18.   Find the inverse function of f(x) = 5x – 2.
*a.   f-1(x) =  
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b.   f-1(x) = 
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c.   f-1(x) = -5x + 2

d.   f-1(x) = 1/(5x – 2)
19.  The function whose graph is shown below is a one-to-one function.
[image: image29.emf]
a. True

*b. False

20. If f(x) = 1/x and g(x) = x2 + 2, then (g o f) (x) is  
[image: image30.wmf]2
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*a. True

b. False
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